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61 348 Service Operations Management
Midterm Exam Answer
Short-type Essay Questions:

1. List any 4 industries that belong to the Service Sector? (2 Points)
Some industries classified under the Service Sector might be:

· Hospitality Industry (Lodging Industry, Travel Industry, F&B Industry, Entertainment Industry…)

· Banking Industry

· Insurance Industry

· Communication Industry

· Education Industry…
2. In the Rooms Division Department, the core product is the “Room”. Could you list the intangible attributes this very product offer to final users? (2 Points)
Some of the intangible attributes offered by the core product (room) might be:

· Convenience

· Comfort

· Safety

· Prestige

· Atmosphere & ambiance…

3. “Each Service Operation Entity shall offer final users products and services different than others offered by other Service Operations”. Do you agree with this statement? Why? Why not? (3 Points)
For sure, each Service Operation Entity shall offer final users products and services different than others offered by other Service Operations. This is denoted as entity’s “Competitive Advantage”. For, if a company possesses no competitive advantage, it would be perceived by potential customers as a company like any other company. Therefore, in good moments, customers might still be accommodated. Yet, in harsh moments (bearing in mind how sensitive is the Service Industry), such companies (i.e. with no competitive advantage) would face serious demand and, hence, economic problems and might end up eventually losing their reason of existence and hence their survival. Moreover, companies with competitive advantage tend to enjoy the endless benefits gained from relying more and more on repeat business.
4. List some concerns constituting major challenges faced by Service Operation Managers as far as facility component is concerned. (3 Points)
Some concerns constituting major challenges face by Service Operation Managers as far as facility component is concerned might be:
· Reliability
· Satisfaction
· Effectiveness & Efficiency
· Ambiance, décor, layout, & functionality (i.e. Ergonomic design)
· Materials used in the construction process
· Safety
5. What is the Average Length of Stay (in days) for visitors coming to Hillside City for Conference / meeting purposes. (1 Point)
The Average Length of Stay for visitors coming to Hillside City for Conference / meeting purposes is 4 days.
6. What sets of criteria help Service Operation Managers choose a specific forecasting method from others ? (3 Points)
Some sets of criteria that help Service Operation Managers choose a specific forecasting method from others are:

· Availability of related historical figures or not

· Nature of the data

· Whether data follows a trend, a cycle or not

· Sample size in hand

· Desired forecasting accuracy
· Assumptions behind any forecasting method

· Availability of enough resources to forecast
7. Why failure points need to be observed and located for any process flow chart? (2 Point)
Failure points shall be observed and located for any process flow chart. For, upon observation of those very failure points, stricter and more detailed blue prints shall be designed. Moreover, managers shall frequently assess the performance of factors of input (for those failure points) and compare them against pre-detrmined quality standards and, evenyually, take necessary actions had any significant deviations from standards occur.
8. “Service Quality is usually associated with an increase in Unit Cost and, hence, lead to cost inefficiency”. Do you agree with this statement? Why: Why not? (3 Points)
Service Quality does not necessarily lead to an increase in cost. For, there are usually small costless details that might boost quality (ex. Better communication, designing better blue prints, brainstorming new & innovative costless ways of producing and delivering, enhancing internal control over each process, increasing employees motivation...). Moreover, eventhough, in the short run, some quality improvements might lead to an increase in the cost, if potential customer percieves positively these improvements, he/she would be loyal to our product, and hence not only repeat business will increase (hence allowing might be savings from the promotion budget), but eventually slaes will boost. Therefore, in the long run, much savings will be generated from such a quality improvement.
Problem Solving:

1. The following table shows the number of Guest Nights, Average Bed Price, and Total Room Revenue of Hillside Hotel for the last ten years. Use these data to answer the underneath questions.
	Year
	Guest Nights
	Average Bed Price
	Revenue
	Double Moving Average

	 
	1
	2
	(1) * (2)
	 

	
	
	
	
	

	1
	34,210
	$62.30
	$2,131,283 
	-----------------

	2
	35,682
	63.40
	2,262,239 
	34,946

	3
	36,090
	63.60
	2,295,324 
	35,886

	4
	35,412
	63.90
	2,262,827 
	35,751

	5
	37,213
	64.50
	2,400,239 
	36,313

	6
	38,415
	64.90
	2,493,134 
	37,814

	7
	38,687
	65.00
	2,514,655 
	38,551

	8
	38,952
	64.80
	2,524,090 
	38,820

	9
	40,125
	65.89
	2,643,836 
	39,539

	10
	41,326
	66.98
	2,768,015 
	40,726


a) Forecast demand (in Guest Nights) for the 11th year using the Double Moving Average Growth Method. (Show all necessary calculations) (3 Points)
· Forecasted Year 11 Guest Nights = 41,622 Guest Nights
b) Now use the regression equation: Y = 33,595.1313 + 730.19393 * X to forecast the guest nights for the 11th year (1 Point)

· Forecasted Year 11 Guest Nights = 33,595.1313 + (730.19393 * 11) = 41,627 Guest Nights
c) Use the regression equation Y = 0.419696 * X + 62.2186 to estimate the Average Bed Price (ADR) for the 11th year. (1 Point)

· 11th year Average Bed Price (ADR) = (0.419696 * 11) + 62.2186 = $ 66.84
d) Now calculate the Total Room Revenue (do not forecast) for the 11th year using the above results found from parts b) & c). (1 Point)
· 11th year  Total Room Revenue = 41,627 * 66.84 = $ 2,782,349
2. Hillside Hotel’s Reservation Manager wishes to establish a quality control program for the time taken by reservation clerks to get a reservation inquiry and process it . He thinks that trained & skilled employees should be able to take reservations more efficiently & effectively. But, at the same time, he is worried about the quality of hadling reservation inquiries. He decided to observe the productivity (measured here as function of the number of minutes spent to get a reservation inquiry and process it to Fidelio System) of employees. Using five different samples taken during the weekdays, he has managed to collect the following data:
	Sampling Day
	Average Res. Process
	Range (Highest - Lowest)
	# of observations

	 
	(Min)
	 
	

	
	
	
	

	1
	5.36
	0.56
	10

	2
	6.13
	0.87
	10

	3
	6.25
	0.45
	10

	4
	5.24
	1.00
	10

	5
	5.02
	0.72
	10


a) Calculate the Average Sample Mean (ASM). (1 Point)

· Average Sample Mean = 5.60 Minutes
b) Calculate the Average Range. (1 Point)
· Average Range = 0.72 Minutes
c) Calculate the Upper Control Limit (UCL) & Lower Control Limit (LCL) of the R-Chart. (1 Point)

· R-Chart Upper Control Limit (UCL) = 1.2816 Minutes
· R-Chart Lower Control Limit (LCL) = 0.1584 Minutes
d) Calculate the Upper Control Limit (UCL) & Lower Control Limit (LCL) of the X-Chart. (1 Point)

· R-Chart Upper Control Limit (UCL) = 5.8232 Minutes
· R-Chart Lower Control Limit (LCL) = 5.3768 Minutes
e) Draw the R-Chart. (2 Points)
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f) Draw the X-Chart. (2 Points)
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g) What would you comment (i.e. Infer) from the findings of the R & X Charts? (2 Points)

The Reservation manager at Hillside Hotel was right that the reservation process was out of control. In fact, the X-chart shows that the ASM of reservation process has deviated above the upper control limit (UCL) as well as the lower control limit (LCL).
 As far as the R-chart is concerned, it shows that the process is in control. (i.e. The average range or difference in reservation process for each sampling day has not exceeded the limits).
From the above charts, the follwing might be concluded:
· The average reservation process per employee to is far above the expectation (X-chart) but there is no difference in reservation process time variance between employees on the same day!

· This might suggest that employees, on the same day, responsible for handling reservations have received similar training, and or possess similar skills on setting up tables.

Therefore, Reservation manager shall concentrate on retraining the whole group to a certain minimum standards as far as handling reservation inquiries is concerned!
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